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To understand how to count in thousands


Your Turn | Year 4 | Place Value
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1 Write the numbers in numerals and words.

Each box holds 1,000 books.

I count on 1,000 more than a. What is my answer? 


Explain how you know.

1,000

1,000

1,000

1,000

1,000
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2 The number shapes represent thousands. Write the sequences represented 

including the number before and after the given sequence. 
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3 The number sequences have been completed. Check they have been 

completed correctly. Correct any mistakes and explain your answers.


4,000 5,000 5,000 7,000 8,000

3,000 4,000 3,000 2,000 1,000

d 5,000 6,000 7,001 8,001 9,001

e 6,000 7,000 8,000 7,000 6,000

10,000 9,000 8,000 7,900 7,800
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Question 
Number

Question Answer

1 a to f) Write the numbers in 
numerals and words.

a) 3,000, three thousand


b) 6,000, six thousand


c) 7,000. seven thousand 


d) 8,000, eight thousand


e) 10,000, ten thousand


f) 4,000 or four thousand. 
Accept relevant explanations, for 
example, I know because the 
thousand digit will increase by 1 
and the hundreds, tens and ones 
will not increase.

2 a to d) The number shapes 
represent thousands. Write the 
sequences represented including 
the number before and after the 
given sequence. 

a) 0, 1,000, 2,000, 3,000, 4,000, 
5,000


b) 7,000, 6,000, 5,000, 4,000, 
3,000, 2,000


c) 10,000, 9,000, 8,000, 7,000, 
6,000, 5,000


d) 6,000, 5,000, 4,000, 3,000, 
2,000, 1,000, 0

3 a to e) The number sequences 
have been completed. Check they 
have been completed correctly. 
Correct any mistakes and explain 
your answers.


a) 5,000 has been repeated 
twice, the second should be 
6,000.


b) 7,900 and 7,800 are wrong. 
They have had 100 subtracted, 
not 1,000. The answers should 
be 7,000 and 6,000.


c) The starting number is 
incorrect. It should be 5,000 to 
fit the pattern.


d) The ones column should not 
be changing. 


e) The numbers are increased 
then decreased. The pattern 
should either increase (in which 
case the first two numbers are 
wrong) or increase (in which 
case the last two numbers are 
wrong). 


